Additional Advanced Problems for Chapter 14

1. Jackson Manufacturing is currently updating their rolling 12 month aggregate plan. Currently, Jackson has 250 units in finished goods inventory and a highly trained workforce of 15 machine operators. Working a total of 160 hours per month, each machinist is capable of producing one unit of output every 72 minutes. Because of the skill required, hiring machinist cost $ 2,500; moreover, each contract specifies a $ 3,000 severance package, payable at termination. Furthermore, as fatigue can have a negative affect on quality, the machinists have a standard contract stating that no more than 20 percent overtime can be used during each month. Additional information is provided in the tables below.

	Beginning Inventory
	250

	Beginning Workforce
	15

	Labor Hours Per Product
	1.2

	Cost to Hire
	 $      2,500 

	Cost to Fire
	 $      3,000 

	Carrying Cost
	 $      15.00 

	Stockout Cost
	 $      15.00 

	Overtime Cost (per unit, max 20%)
	 $      10.00 

	Subcontract Cost
	 $      25.00 


	Demand Per Month

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12

	1800
	1850
	1750
	1650
	1950
	2300
	2600
	2100
	2550
	1950
	1850
	1750


As a member of Jackson’s operations management team, you are required to evaluate, in terms of cost, the following alternatives:

a. A purse chase strategy; note, in a show of labor solidarity, operators refuse to build inventory under a chase strategy in periods where capacity exceeds demand.

b. A pure level strategy.

c. A level strategy with subcontracting to satisfy all unmet demand

d. A level strategy with a maximum inventory level of 500 units and subcontracting to satisfy all unmet demand.

e. A level strategy with a maximum inventory level of 500 units and the use of overtime and outsourcing to satisfy all unmet demand.

f. Which alternative should Jackson’s management adopt?
